
ASSEMBLY INSTRUCTION

EU  C000000

US CA  C000000

921-235

UK  C000000
DE  C000000
IT  C000000

FR  C000000
ES  C000000

Assembly video please scan the  QR code .



150



150



150



150



150



PART
LIST

02

I 4

D 1

C 1

B 1

A 1

L 1H 4D 1

H 4

G 1

F 1

E 1

J 3

K 4

L 1

M 1

M6*20

M8*35

M8*18

M6

M8

01C 1B 1A 1

M6*20 M6



03

D
one

E 1 04F 1

01

E

J 3 M 1

M8*18 M8

05G 1 I 4 K 4

M8*35

M 1

M8

G
G

K

K

K

I I




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9

